

On the Hurwitz Zeta Function

Lazhar Fekih-Ahmed

▶ To cite this version:

Lazhar Fekih-Ahmed. On the Hurwitz Zeta Function. 2011. hal-00602532v1

HAL Id: hal-00602532 https://hal.science/hal-00602532v1

Preprint submitted on 22 Jun 2011 (v1), last revised 2 May 2012 (v2)

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers. L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

On the Hurwitz Zeta Function

Lazhar Fekih-Ahmed

June 22, 2011

Abstract We give new integral and series representations of the Hurwitz zeta function. We also provide a closed-form expression of the coefficients of the Laurent expansion of the Hurwitz-zeta function about any point in the complex plane.

Keywords Number Theory · Hurwitz Zeta function

Mathematics Subject Classification (2000) 11M06 · 11M35

1 Introduction

The Hurwitz zeta function defined by the series

$$\zeta(s,a) = \frac{1}{a^s} + \frac{1}{(1+a)^s} + \dots + \frac{1}{(k-1+a)^s} + \dots = \sum_{n=1}^{\infty} (n-1+a)^{-s}, \quad (1.1)$$

where $0 < a \le 1$, is a well-defined series when $\Re(s) > 1$, and can be analytically continued to the whole complex plane with one singularity, a simple pole with residue 1 at s = 1.

The Hurwitz zeta function has also the following integral representation

$$\zeta(s,a) = \frac{1}{\Gamma(s)} \int_0^\infty \frac{e^{-(a-1)t}}{e^t - 1} t^{s-1} dt, \tag{1.2}$$

valid for $\Re(s) > 1$ [6]. Moreover, it has the following analytic continuation represented by the following contour integral

$$\frac{\Gamma(1-s)}{2\pi i} \int_{\mathcal{C}} \frac{e^{-(a-1)t}}{e^t - 1} t^{s-1} dt, \tag{1.3}$$

where C is the Hankel contour consisting of the three parts $C = C_- \cup C_\epsilon \cup C_+$: a path which extends from $(-\infty, -\epsilon)$, around the origin counter clockwise on a circle of

Lazhar Fekih-Ahmed

École Nationale d'Ingénieurs de Tunis, BP 37, Le Belvédère 1002 , Tunis, Tunisia

E-mail: lazhar.fekihahmed@enit.rnu.tn

center the origin and of radius ϵ and back to $(-\epsilon, -\infty)$, where ϵ is an arbitrarily small positive number.

The integral (1.3) defines $\zeta(s,a)$ for all $s \in \mathbb{C}$ with a single pole at s=1.

2 New Integral and Series representations of $\zeta(s,a)$

The new representations of $\zeta(s,a)$ are based on the alternating sums defined by

$$S_n(s,a) = \sum_{k=0}^{n-1} (-1)^k \binom{n-1}{k} (k+a)^{-s} \text{ for } n \ge 2,$$
 (2.1)

and by $S_1(s,a)=1$ for n=1, and on the real function $\psi(t)$ defined by

$$\psi(t) = \frac{te^t}{(e^t - 1)^2} - \frac{1}{e^t - 1} - \frac{(a - 1)t}{e^t - 1}.$$
 (2.2)

We prove the following theorem

Theorem 2.1 For all s such that $\Re(s) > 0$ and all $0 < a \le 1$, we have

(A)
$$(s-1)\zeta(s,a) = \frac{1}{\Gamma(s)} \int_0^\infty \psi(t)e^{-(a-1)t}t^{s-1} dt.$$

(B)
$$(s-1)\zeta(s,a) = \sum_{n=1}^{\infty} S_n(s,a) \left(\frac{1}{n+1} + \frac{a-1}{n}\right).$$

Proof We can rewrite $S_n(s,a)$ in (2.1) as

$$S_n(s,a) = \frac{1}{\Gamma(s)} \int_0^\infty \sum_{k=0}^{n-1} (-1)^k \binom{n-1}{k} e^{-(k+a)t} t^{s-1} dt$$
$$= \frac{1}{\Gamma(s)} \int_0^\infty (1 - e^{-t})^{n-1} e^{-at} t^{s-1} dt, \tag{2.3}$$

since we know that

$$(n+a-1)^{-s} = \frac{1}{\Gamma(s)} \int_0^\infty e^{-(n+a-1)t} t^{s-1} dt, \tag{2.4}$$

a valid formula for $\Re(s) > 0$, and since

$$\sum_{k=0}^{n-1} (-1)^k \binom{n-1}{k} e^{-(k+a)t} = e^{-at} (1 - e^{-t})^{n-1}.$$
 (2.5)

The proof consists of an evaluation of the sum

$$\sum_{n=1}^{\infty} \frac{S_n(s,a)}{n+1} + (a-1) \sum_{n=1}^{\infty} \frac{S_n(s,a)}{n}.$$
 (2.6)

But before we do so, we need to establish the following two identities valid for $0 < t < \infty$:

$$\frac{te^{-t}}{1 - e^{-t}} = \sum_{n=1}^{\infty} \frac{(1 - e^{-t})^{n-1}e^{-t}}{n}.$$
 (2.7)

$$\frac{te^{-t}}{(1-e^{-t})^2} - \frac{e^{-t}}{1-e^{-t}} = \sum_{n=1}^{\infty} \frac{(1-e^{-t})^{n-1}e^{-t}}{n+1}.$$
 (2.8)

To prove these identities, we start from the series

$$t = -\log(1 - (1 - e^{-t})) = \sum_{n=1}^{\infty} \frac{(1 - e^{-t})^n}{n}.$$
 (2.9)

This yields

$$\frac{t}{1 - e^{-t}} = \sum_{n=1}^{\infty} \frac{(1 - e^{-t})^{n-1}}{n},$$
(2.10)

and

$$\frac{t}{(1-e^{-t})^2} = \frac{1}{1-e^{-t}} + \sum_{n=1}^{\infty} \frac{(1-e^{-t})^{n-1}}{n+1},$$
(2.11)

from which the two identities follow easily.

Without worrying about interchanging sums and integrals for the moment, we have

$$\sum_{n=1}^{\infty} \frac{S_n(s,a)}{n+1} = \frac{1}{\Gamma(s)} \sum_{n=1}^{\infty} \int_0^{\infty} \frac{(1-e^{-t})^{n-1}}{n+1} e^{-at} t^{s-1} dt$$
 (2.12)

$$= \frac{1}{\Gamma(s)} \int_0^\infty \sum_{n=1}^\infty \frac{(1 - e^{-t})^{n-1}}{n+1} e^{-at} t^{s-1} dt$$
 (2.13)

$$= \frac{1}{\Gamma(s)} \int_0^\infty \left(\frac{te^{-t}}{(1 - e^{-t})^2} - \frac{e^{-t}}{1 - e^{-t}} \right) e^{-(a-1)t} t^{s-1} dt, \quad (2.14)$$

and similarly

$$\sum_{n=1}^{\infty} \frac{S_n(s,a)}{n} = \frac{1}{\Gamma(s)} \sum_{n=1}^{\infty} \int_0^{\infty} \frac{(1 - e^{-t})^{n-1}}{n} e^{-at} t^{s-1} dt$$
 (2.15)

$$= \frac{1}{\Gamma(s)} \int_0^\infty \sum_{n=1}^\infty \frac{(1 - e^{-t})^{n-1}}{n} e^{-at} t^{s-1} dt$$
 (2.16)

$$= \frac{1}{\Gamma(s)} \int_0^\infty \frac{te^{-t}}{1 - e^{-t}} e^{-(a-1)t} t^{s-1} dt.$$
 (2.17)

Therefore,

$$\sum_{n=1}^{\infty} \frac{S_n(s,a)}{n+1} + (a-1) \sum_{n=1}^{\infty} \frac{S_n(s,a)}{n} = \frac{1}{\Gamma(s)} \int_0^{\infty} \left(\frac{te^t}{(e^t-1)^2} - \frac{1}{e^t-1} + \frac{(a-1)t}{e^t-1} \right) e^{-(a-1)t} t^{s-1} dt.$$
 (2.18)

This proves that the right hand sides of (A) and (B) in the statement of the theorem are equal. Now, by observing that

$$\frac{d}{dt} \left(\frac{-te^{-(a-1)t}}{e^t - 1} \right) = \left(\frac{te^t}{(e^t - 1)^2} - \frac{1}{e^t - 1} - \frac{(a-1)t}{e^t - 1} \right) e^{-(a-1)t},\tag{2.19}$$

we can perform an integration by parts in (2.18) when $\Re(s) > 1$. The integral in the right hand side of (2.18) becomes

$$\frac{s-1}{\Gamma(s)} \int_0^\infty \frac{e^{-(a-1)t}}{e^t - 1} t^{s-1} dt = (s-1)\zeta(s, a). \tag{2.20}$$

Thus,

$$\sum_{n=1}^{\infty} \frac{S_n(s,a)}{n+1} + (a-1) \sum_{n=1}^{\infty} \frac{S_n(s,a)}{n} = (s-1)\zeta(s,a), \tag{2.21}$$

and this prove the theorem when $\Re(s) > 1$. However, formula (2.21) remains valid for $\Re(s) > 0$ since the integral (2.18) is well-defined for $\Re(s) > 0$.

To finish the proof, we now need to justify the interchange of summation and integration in both equation (2.13) and equation (2.16). We show this justification for equation (2.13) only, the other is similar.

The interchange in (2.13) is indeed valid because the series

$$\sum_{n=1}^{\infty} \int_{0}^{\infty} \frac{(1 - e^{-t})^{n-1}}{n+1} e^{-at} t^{s-1} dt$$
 (2.22)

converges absolutely and uniformly for $0 < t < \infty$. To prove this, it suffices to show uniform convergence for the dominating series

$$\sum_{n=1}^{\infty} \int_{0}^{\infty} \frac{(1 - e^{-t})^{n-1}}{n+1} e^{-at} t^{\sigma - 1} dt, \tag{2.23}$$

where $\sigma = \Re(s)$.

Indeed, let $K = \max((1-e^{-t})^{n-1}e^{-t/2}), 0 < t < \infty$. A straightforward calculation of the derivative shows that

$$K = \left(1 - \frac{1}{2n-1}\right)^{n-1} \frac{1}{\sqrt{2n-1}} \tag{2.24}$$

and is attained when $e^{-t} = \frac{1}{2n-1}$. Now, for $n \ge 2$, we have

$$\int_{0}^{\infty} (1 - e^{-t})^{n-1} e^{-at} t^{\sigma - 1} dt = \int_{0}^{\infty} (1 - e^{-t})^{n-1} e^{-t/2} (e^{-(-1/2 + a)t} t^{\sigma - 1}) dt$$

$$\leq K \int_{0}^{\infty} e^{-(-1/2 + a)t} t^{\sigma - 1} dt$$

$$= (1 - \frac{1}{2n - 1})^{n - 1} \frac{\Gamma(\sigma)}{\sqrt{2n - 1}(-1/2 + a)^{\sigma}}$$

$$\leq \frac{K'}{\sqrt{2n - 1}}.$$
(2.25)

The last inequality implies that each term of the dominating series is bounded by $K'/(n+1)\sqrt{2n-1}$. Thus the dominating series converges by the comparison test. This completes the proof of the theorem.

With \mathcal{C} being the Hankel contour defined previously, an immediate corollary of Theorem 2.1 is the following

Corollary 2.1 For $0 < a \le 1$ and for all $s \in \mathbb{C}$, we have

(C)
$$(s-1)\zeta(s,a) = \frac{\Gamma(1-s)}{2\pi i} \int_{\mathcal{C}} \psi(t)e^{-(a-1)t}t^{s-1} dt.$$

(D)
$$(s-1)\zeta(s,a) = \sum_{n=1}^{\infty} S_n(s,a) \left(\frac{1}{n+1} + \frac{a-1}{n}\right).$$

Proof The proof the first statement follows the same steps as in [6] for example. As for the second statement, we can either proceed as in [5] or as in [3]¹. In [3], the proof was given for $\zeta(s)$ (i.e. a=1) and uses an estimate of the exact asymptotic order of growth of $S_n(s,1)$ when n is large. By looking at the definition of $S_n(s,a)$, we can see that $S_n(s,1)$ are the Stirling numbers of the second kind modulo a multiplicative factor when $s \in \{0,-1,-2,\cdots\}$. Therefore, when s=-k, k a positive integer, $S_n(-k,1)$ are eventually zero for n large enough. Similarly, $S_n(s,a)$ are the generalized Stirling numbers of the second kind whose generating function is given by [2]:

$$\sum_{k=0}^{\infty} S_n(-k, a) \frac{t^k}{k!} = e^{at} (1 - e^t)^n.$$
 (2.26)

It follows that

$$S_n(-k,a) = \frac{d^k}{dt^k} \left\{ e^{at} (1 - e^t)^n \right\} \bigg|_{t=0}, \tag{2.27}$$

and hence $S_n(-k, a)$ are eventually zero for n large enough.

For $s \notin \{0, -1, -2, \dots\}$, an asymptotic estimate of $S_n(s, a)$ can be obtained for n large. Indeed, we have by definition

¹ The notation used in [3] may cause some confusion. Contrary to the notation of this paper in which $\zeta(s,a)$ denotes the Hurwitz zeta function, $\zeta(s,x)$ in the cited paper is a power series associated with $\zeta(s)$ and has nothing to do with the Hurwitz zeta function.

$$S_n(s,a) = \sum_{k=0}^{n-1} {n-1 \choose k} (-1)^k (k+a)^{-s}.$$
 (2.28)

By making the change of variable, k=m-1, the sum can obviously be put into the form

$$S_n(s,a) = \frac{-1}{n} \sum_{m=1}^n \binom{n}{m} (-1)^m \frac{m}{(m+a-1)^s}.$$
 (2.29)

Asymptotic expansions of sums of the form (2.29) have been thoroughly studied in [4]. The function $\frac{z}{(z+a-1)^s}$ has a non-integral algebraic singularity at $s_0 = 1 - a$ since 0 < a < 1; thus, when s is nonintegral, $S_n(s,a)$ has the following asymptotics when n is large

$$S_n(s,a) \sim -\frac{\Gamma(1-a)n^{1-a}(\log n)^{s-1}}{n\Gamma(s)} = -\frac{\Gamma(1-a)}{n^a(\log n)^{1-s}\Gamma(s)},$$
 (2.30)

and when $s = k \in \{1, 2, \dots\}$ the following expansion

$$S_n(k,a) \sim -\frac{\Gamma(1-a)(\log n)^{k-1}}{n^a(k-1)!}.$$
 (2.31)

For the case a=1 and s nonintegral, the numerator becomes equal to 1 and we obtain

$$S_n(s) \sim -\frac{1}{n(\log n)^{1-s} \Gamma(s)}.$$
 (2.32)

The asymptotic estimates (2.30), (2.31) and (2.32) are valid for n large enough and for all s such that $\Re(s)>0$. To finish the proof of the corollary, we note that the logarithmic test of series implies that our series is dominated by a uniformly convergent series for all finite s such that $\Re(s)>0$. Now, by Weierstrass theorem of the uniqueness of analytic continuation, the function $(s-1)\zeta(s,a)$ can be extended outside of the domain $\Re(s)>1$ and that it does not have any singularity when $\Re(s)>0$. Moreover, by repeating the same process for $\Re(s)>-k,\ k\in\mathbb{N}$, it is clear that the series defines an analytic continuation of $\zeta(s)$ valid for all $s\in\mathbb{C}$.

We can also obtain the analytic continuation of $\zeta(s,a)$ to the whole complex plane via the following

Corollary 2.2 For all s such that $\Re(s) > -k$ and all $0 < a \le 1$, we have

$$(s-1)\zeta(s,a) = \frac{(-1)^k}{\Gamma(s+k)} \int_0^\infty \frac{d^k}{dt^k} (\psi(t)e^{-(a-1)t}) t^{s+k-1} dt.$$
 (2.33)

Proof For all k and all $0 < a \le 1$, the integrand is bounded and has finite values at the limits of integration. Repeated integration by parts proves the corollary.

Now if we consider the function $\zeta(s,a)-a^{-s}$ dealt with in [1], we obtain the following corollary

Corollary 2.3 Let $\eta(t) = \frac{te^t}{(e^t-1)^2} - \frac{1}{e^t-1} - \frac{at}{e^t-1}$. Then, for all s such that $\Re(s) > 0$ and all $0 \le a \le 1$, we have

(E)
$$(s-1)(\zeta(s,a) - a^{-s}) = \frac{1}{\Gamma(s)} \int_0^\infty \eta(t)e^{-at}t^{s-1} dt.$$

(F)
$$(s-1)(\zeta(s,a) - a^{-s}) = \sum_{n=1}^{\infty} S_n(s,a) \left(\frac{1}{n+1} - \frac{a}{n} \right).$$

Proof The proof follows the same lines as the proof of Theorem 2.1.

We note that when $a=0, \ \zeta(s,a)-a^{-s}=\zeta(s)$. The formulas of Corollary 2.3 reduce to the formulas found in [3].

3 A formula for the Laurent coefficients

Berndt [1] (see also the references therein) derived expressions for the coefficients of the Laurent expansion of the Hurwitz zeta-function $\zeta(s,a)$ about s=1. He also provided a method to calculate and estimate these coefficients. In this section, we give exact estimates of the coefficients of $(s-1)\zeta(s,a)\Gamma(s)$ for any point of the complex plane, and from these coefficients the Laurent coefficients of $\zeta(s,a)$ about the same point can be easily calculated.

We will only consider expansions around a point $s_0 = x + iy$ in the right half plane, i.e. x > 0. For the other points, the reader will realize that the extension can be easily accomplished.

The idea is to simply use the integral formula given in formula (A) of Theorem 2.1. From this formula, the analytic function $(s-1)\zeta(s)\Gamma(s)$ can be represented by a Taylor series around any point s_0

$$(s-1)\zeta(s,a)\Gamma(s) = \sum_{n=0}^{\infty} a_n (s-s_0)^n$$
 (3.1)

where the coefficients $a_0 = (s_0 - 1)\zeta(s_0, a)\Gamma(s_0)$ and a_n are given by

$$a_n = \frac{1}{n!} \lim_{s \to s_0} \frac{d^n}{ds^n} \left\{ \int_0^\infty \psi(t) e^{-(a-1)t} t^{s-1} dt \right\}$$
$$= \frac{1}{n!} \int_0^\infty \psi(t) e^{-(a-1)t} (\log t)^n t^{s_0-1} dt, \tag{3.2}$$

with $\psi(t)$ being given in equation (2.2).

Thus, following $[1]^2$, if we set

$$(s-1)\zeta(s,a) = \sum_{n=0}^{\infty} \gamma_n(a,s_0)(s-s_0)^n,$$
(3.3)

and if we expand $\Gamma(s)$ around the point s_0 into a Taylor series of the form

² Actually the coefficients $\gamma_n(a)$ when $s_0=1$ differ slightly from ours since in [1] they were defined by $(s-1)\zeta(s,a)=\sum_{n=0}^{\infty}\gamma_n(a)(s-1)^{n+1}$.

$$\Gamma(s) = \sum_{n=0}^{\infty} c_n (s - s_0)^n,$$
 (3.4)

where $c_0 = \Gamma(s_0)$ and

$$c_{n} = \frac{1}{n!} \lim_{s \to s_{0}} \frac{d^{n}}{ds^{n}} \left\{ \int_{0}^{\infty} e^{-t} t^{s-1} dt \right\}$$
$$= \frac{1}{n!} \int_{0}^{\infty} e^{-t} (\log t)^{n} t^{s_{0}-1} dt, \tag{3.5}$$

we easily obtain

$$\gamma_n(a, s_0) = -\frac{1}{c_0} \sum_{k=1}^n \gamma_{n-k}(a, s_0) c_k + a_n.$$
(3.6)

To get the last formula, we have merely used the coefficient formula of division of power series. The formula is recursive and can be used to calculate $\gamma_n(a,s_0)$ for any $0 < a \le 1$ and any s_0 in the right half plane. If s_0 is not in the right half plane, the integral formula (2.33) of Corollary 2.2 can be used instead.

References

- B. C. Berndt, On the Hurwitz Zeta-Function, Rocky Mountain Journal of Mathematics, Vol.2, No 1, pp. 151-157, (1972).
- 2. L. Carlitz, Weighted Stirling Numbers of the First and Second kind I, The Fibonacci Quarterly 18, pp. 147-162, (1980).
- 3. L. Fekih-Ahmed, On the zeros of the Riemann Zeta function, http://hal.archives-ouvertes.fr/hal-00476252_v3/, (2011).
- 4. P. Flajolet, R. Sedgewick, Mellin Transforms and Asymptotics: Finite Differences and Rice's Integrals, Theoretical Computer Science, Vol. 144, Issues 1-2, 26, pp. 101-124, (1995)
- 5. H. Hasse, Ein Summierungsverfahren für die Riemannsche Reihe, Mathematische Zeitschrift, Vol. 32, pp. 456-465, (1930).
- E. T. Whittaker, G. N. Watson, A Course of Modern Analysis, Cambridge University Press, (1963).